3 : ~1|<5 is
(1) The solution gey of the inequality ]I l : [_1 3] /
—4,6 R y
?) % " 4% D) [-3.5] /
, g /
ey =1
(2) The solution set of the equality J ]I o 18 N— /
S Q2.4
A) {45} D) {-3,5} -
B) {-1,3} s
(3) The domain of the function f (x)= JS—x o
AA) (—0,-5] C) [5,)
B) (—0,5] "qg) ['—5,”‘3’) .
(4) The equation of the line with slope 1 and y-intercept -2 is .
[A) y =—x +2 C)y=—x-2
L@’y =x +2 ' D)y =x—2 _
G)If f(x) =x> and g(x)=logs x , then the domain of the function [ + %
—H.@ (5.) C) (0,0)
B) [0, ) D) R
2r
6) —=
(6) 3 |
@ 120° C) 300°
B) 270 D) 150° _
MATH 101 Page 1 of 6
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A 0<2; —
A7) If cosl = }-.whcrc -‘-{ <0 <27  \hen cot@ = //
/] 3 = 3
4 -
N -3 €73
'.';
d4 -
B) 3 q);)/td/:/_/i -
@) lim* ¥ =2 e T
x-x -1 —
A) 4 C)6
@3 D)5 ——
.@ _/A
-3 ;
(9) lim Ax 7 +2x +4 .
x—»02¢2 45y +6 —
)0 ) 7]
D) —o
! cOs X
(10) The function f (x)= 2 16 is continuous on
A) R—{—4} O R
® R-{-4,4) D) R-{4}
Q(ll) The function f (x)= g, BEEC is §
4-3x, x<-1

A) neither left nor right continuous at x =—1
B) continuous at x = -1

© right continuous only at x =1
D) left continuous only at x ==1

(A2)1f y = (x —4)(x +5), then iiz
X

A) 2x +9 2x -1
B) 2r -9 ) 2x +1
44 )= —
q (13)Iff(r)-f+s,then f'@t)=
r =
A) - G
(t -5)° (t -5)
! 1) W
(t+3)° (L +5)?

i
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14-x

TTrEe—
| 2,2

B)

=

C)-—Losx
(I-siny )2

_{_]8)11- ¥y =x2-c0.\;.r,thf:n y= uj:'t ER S
A) 2—cosx H‘bx—z
B) 2—sinx (C) 2+ cosx %
D) 2+sinx
e (A9 If y =In(x*+sinx), then %: \
X
2y —cosx
A)
B 3 +Sinx C) ‘ CBS_'.c \
@h +Cosx s
s D) ——
X 4sinx X~ +5inxy
/,(’20} lf x: +}| 2 =—2x . [he“ J_,' = %
x+1 x =1
Bes C) }.r=__ \
A)y il y
' 1"x @ }":w—i-]:
B)y = y y
—-—-—'-'-_--—— \
X Page 3 of 6
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-__._-_‘____,..---""_""'---.....____ ____,-'/_"'—-—\

_/_—-\\-

A) I.ul(;" }m:-;[r'] @)f' 1;|n[r']'u:c[rx)

B) ¢ tan|e’ Ef_:_)__...-—--...___________ D) -I:m(r‘ }scc(r' ) A
________...-—-——--'—..._,_________-—_ \-\_‘N—_
Pan It ()= 2t 4 lnx D 8 Gx) ~—

@ (27) L e
B) cosx (Tm }+% g D) cosx (flm )In?.+‘_:*

[(23) The inverse function of the funciion S x)=1-2v e \‘

C} '-.r +] _-__l-"'"---._
x -1 . 2
e 2 by X2

. ™

» __-_-—-"""'--n.
(2N 5= =25 thenx =
A) 6 —\7
; C)s T —
: D) 4
(25)IT logs(x =3) =1, then x =
3
D)8"
A7 - =
B) 10 Cn
D)6
{2?} I'-'Jg,,r, 3”-1-&5&5:
A)3
H)1 2
D) 4

L2} If 7~
A) -3
:@3\ Cj 4
= D) —4

A —5SCx ,then y' =
¥ I I"'L‘h':_r C;”EI

BY-1-cscx oory

t]'lhﬂl.t:

C) =1+csex oty
D} 1+4cscx cotx

M
ATH lnl Fll'ml EILIIT' [DI
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C)3
LK’ Dy 1 /
%i'mimum point of the function J (¥)=2¢? 8¢ +M
B?’(l-—\q] D) (0,2) /
_ 15
f%"imum point of the function f (x)=2c*-8 +4M
A) (2,~6) C) (2,-4)
= vy

=

e

A) 5

B

e,
(33) The Crilical nymbers of the function f (x)=

x3 _ﬁx‘-'+9x +2 arc/

B) (-3,-1)

A) 3,3 O 11

B) -3, -1 ©y1,3 __,/
]

(34) The function f (x)=x 3 _6x*+9x +2 isincreasing on

A) (1.3) © (== )U(=)

D) (~0,-3)U(-Ls)

(35) The function f (x)=x 3 —6x?+9x +2 is decreasing on

A) (=0,-3)U(-1,) 0 (3-1)
@) (1.3) D) (=)U(3:)
(36) The function f (x)=x 3 _6x2+0r +2 has alocal maximum at the point
C) (1,6}
-3,2
. Nevd—6r - +9x +2 hasalocal minimum al the point o ~—
(37) ) The function fx)=x NET —
A) (3,12) . 0y (16)
B) ('- = \
£ 2 19y +2 is concave upward (N
on f (x)=x"Z68"*
(38) The graph of the function f S (2) \
A) (+22) D) (-2 —~——
B) (2)
Page 5 of 6 Fing| Exam 1y
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ward on y
" : downvv+

jon f‘r.’-'l.')=,l.-- —ﬁ_t'-“ﬁ'g.rf’—’//—\
func =~

(39) Tt h of the funct

A) l'hwlczg}mpm — o) (2) )
N i D) (-—cf.",—z

o(2m)

~ — \

(40) The function f{.r}'—'-"}'ﬁ" “+9x +2 has an inflection point at

A) (‘-?-14J - C) (__z.[]) \
i) D) (2:4)
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